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TR ER I TRRI0EE TER314EE SH2EE SHIBEE SHAEE SHISEE
BEEHRLULE 14.3% 16.1% 16.1% 18.8% 16.7% 17.2%
SEE SRR 18.8% 24.2% 27.0% 24.1% 25.4% 24.6%
REH 61.8% 60.7% 60.7% 59.8% 59.1% 58.5%
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B | &t | B | k| BE | x| B | x| Bt | x| B | &%
EEH 0%  100% 0%  100% 0%  100% 0%  100% 0% 100%| 0.0%| 100.0%
EHm 0%  100% 0%  100% 0%  100% 31%|  100% 20%| 100%| 15.4%| 100.0%
EFEE AT 0% 100% 0% 100% 0%  100% 2% 100% 20%|  100% 7.7%| 100.0%
EER 0%  100% 0%  100% 9%  100% 4% 100% 0% 100%| 23.1%| 100.0%
ZDih 0%  100% 0%  100% 0%| 100% 0%| 100% 0%| 100% — —
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LR 294 E TERE30FEE TERE314ERE SH2EE SHIBEE SH4EE
%ﬂﬁﬁg gﬁ‘*ﬂﬁ 44.8% 31.0% 50.0% 38.7% 76.9% 45.0%
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